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For each question from 1 to 28, four oplions are given. One of them Is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval on the Optical Answer Sheet (OAS).

[56 marks)

1

2

Jael saw animal X in 2 muddy area.

Animal X has the following characteristics:
A lthasfins,

B it breathes through gills.

C It has scales as outer body covering.

Based on the characteristics, which animal group does animal X belong to?

{1 fish

(3) insect

(3) reptile

(4) amphibian

The flow chart below shows information of four different organisms, J K Land M.

Living things

N

Daoes it reproduce | Yes Does it make its Yes M
by spores? own food?

No No

v

Doesit makeits | __Yes o L
own food?

No

Which of the following correctly identifies organisms J, ¥, L and M?

J K L M
(1) mushroom _ rose moss earthworm
(2) garthworm moss mushroom rose
(3) rose mushroom earthworm moss
4) earthworm rose mushroom moss

{Go on fo the next page)
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Study the diagrams of two cells, G and H, below.

P Q
;'[
P
/ <0
B
= -
cell G , cell H

Which cell parts show that cells G and H are plant cells?

(1) QeandT
(2) PandR
{3) P,Rand$S
4 P,QandT

Marcus ate an equal amount of food A and B. The amount of food A and B that
remained undigested in each organ of his digestive system were measured.

The graph below shows the change in the percentage of undigested food,

Percentage of
undigested food (%)
Fy
100 o~
~ITTT _"‘* -~ — — Food A
R | O Food B
A
SR
A\
"\_ \
\_‘ \
-‘. pr— meeas  —
\1
Mo sba e v mes
S Q R 5 T Organ

Based on the above graph, which of the following statemants is correct?

(1) Digestion of food A and B ends in organT.
(2) Food A and B are not digested in organ P,
(3} Organ R digested more food A than organ 8.

(4} Food B is not digested in organ Q of the digestive system.

(Go on to the next page)
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5 The diagram below shows a germinating seed.

position X

position Y

Which one of the following shows the directions in which food and water are being _
transported to at positions X and Y?

Direction of food at Direction of water at

Position X | Position Y | Position X | Position ¥

o Y N
(2)

' ! f f
< ¢ t ! t
¢ ' t t

(@)

] Clyde wanted to find out which parts of a flower must be present for the flower to develop
into a fruit. With the four flowers still growing on the plant, he removed some paris of each
flower as shown below.

W

Flower T Flower U Flower V

Clyde dusted pollen grains over all the four flowers.

Which of the above flower(s) would not develop into fruit(s)?
(1) FlowerV only

(2) Flowers TandV

{8) Flowers UandW
(4) FlowersT,VandW

{Go on to the next page)
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The diagrams below show fruits J, i€ and L from three different plants.

hooks wing-fike structure fibrous husk

Fruit L

Fruit J

Which of the following matches the fruit to its method of dispersal?

Fruit J Fruit K Fruit L
{1 animal wind water
{2) water wind animal -
(3) wind splitting animal
(4} animal splitting wind

The diagram below shows the female reproductive system in humans.

Which of the following matches the parts to the description?

Produces female Where fertilised egg develops
reproductive cells into a baby

(1) P R

@) § R

@) P a

{4) s Q

{Go on to the next page)
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The graph below shows {he composition of two gases, E and F, found in both the Inhaled
and exhaled air of a human.

Amount of
gas (units) Key:
$ Oinhaled air
[ exhaled air
==
,—J@ — Gas
GasE GasF
What could gases E and F be?
Gas E GasF
(1) carbon dioxide water vapour
(2) [ carbon dioxide oxygen
(3) oxygen carbon dioxide
4 water vapour carbon dioxide

The table below shows some characteristics of two organisms, P and Q.

Organism Characteristics
P Flowers are pollinated by wind
Q Catches prey at night

Based on the characteristics that the organisms have in the table above, which of the
following adaptations must.organisms P and Q have to help them to survive?

M
2)
(3)
()

Crganism P

—1

Organism Q

Flowers

are brightly-coloured

Has good night vision

Flowers are dull-coloured

Has a long tall to balance itself

Anthers of flowers hang out of the petals . Has good sense of hearing

Flowers are elther male or female

Has thick fur as body covering

(Go on fo the next page)
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Study the food web below,

VAN

Qis both a predator and prey.
U is a food producer.

S is a plant-and-animal-eater
T is a plant-eater,

g0 wr

Which of the statements above are correct?

{1) A and B only
(2) A and D only
(3) B and C only
(4) C and D only

The diagram below shows a habitat with some fiving things.

caterpillar butterfly

water

arrowhead hyacinth

Based on the diagram above, which one of the following statements is correct?

{1) There are two popufations of producers.
2) There are five populations of consumers.
{3) There is one community with six populations.

(4) There is one community with eight populations,

{Go on to the next page)
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.ow amount of light

8

Ahmad studied the effect of light on plant W, The diagrams below shows his
observations when plant W is grown under different amount of light.

High amount of light

Which set of graphs matches with the observations of plant W above?

m

Number of leaves

T

Height of
plant {cm

HHHH‘ _

1L()/

. Amount of

BP-584

" light {units) " fight (units)
@) Height of
Number of leaves plant (cm}
F 3
H H H » Amount of I\ . _Amount of
light (units) light (units)
{3) Height of
Numbfr of leaves olent (om)
=3 h
T " light {units) " fight {units)
{4) Height of
Numb‘Br Of leaves p‘[ant (cm)
A e A
H H H Amount of Amount of

¥ light (units)

> light {units)

{Go on to the next page)
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The diagram below shows how man's activities affect the environment.

fo rain

(1)
@
)
4

Soil exposed | _ A
More carbon dioxide |+ c
L 4
Traps more heat from the Sun
y
D
Rapid melting of glaciers and ice caps
Which one of the foliowing correctly represents A, B, C and D?
A B C 3]
Burning fossil Greenhouse
fusls Soff erosion Ceforestation effact
. Burning fossil . Greenhouse
Deforestation fuels Global warming effect
Buming fossli . Greenhouse warmin
fuels Deforestation effect Global warming
Deforestation Soli erosion Bum;:aglgossil Global warming

{Go on to the next page)
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15 Jessica measured the mass of four

10

similar objects made of materials, A, B, C and D,

before placing them into a container of water. The objects were taken out after 10 minutes

and their mass were measured agal

n. She recorded the results in the fable below.

Materials Mass at the Mass after 10
start (g) minutes in water {g)
A 20 50
B 20 25
c 20 55
D 20 20

Study the picture of a diaper below.

Which of the materials A, B, C or D are the most suitable to make parts X and Y of the

diaper?

Part X Part Y
(1 B C
3] A B
(3 c D
4 D C

{Go on to the next page)
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Three 500 cm® flasks, X, Y and Z, are connected o air pumps as shown in the diagram
below.

air pump

300 cm®
of water

flask X flask ¥ flask Z

After another 300 cm? of air is pumped into all flasks, which of the following correctly
shows the final volume of air inside the flasks?

flask X {cm®) flask Y {em?®) flask Z (cm®)
(0 800 700 500
{2) 600 500 400
3) 500 400 200
(4) 500 400 600

The graph below shows the changes in temperature when substance A is heated over
a period of time. Substance A has a melting point at 28 °C and bolling point at 317°C_

Temperature of ;
substance (°C) 1

L1 4 O —————

28—'—_/’

0 > Time {min)

Which statement about substance A is not correct?

(1) At50°C, substance Alsin liquid state.

{2} Atpoint P, substance A Is in solid and liquid state,

(3) At point Q, substance A is in sofid and liguld state, %
(4} At point R, substance A s In liquid and gaseous state.

{Go on to the next page)
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18  Lily bought a bowl of iced dessert. She observed a white mist over the crushed

19

ice.

The arrows, A, B, C and D, below represent different processes.

A B
Solid Liquid | Gas
D. c

Which of the following is correct?

1
(@)
3
{4)

State of mist Process that forms the mist |
Gas B
Liquid G
Liguid A
Solid D

Three circuits, A, B and C were set up as shown in the diagram pelow. All the
components are in working condition. in which circuit(s) will a buib light up?

()
(2
(®)
)

Aonly

B and C only
Aand C only
None of the above

{Go on to the next page)
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John placed two Identical ice cubes on two blocks made of materials X and Y as
shown in the diagram below. The blocks were of simifar size.

ice cubes ice cubas
30
minutes
later
4 ——— Lhsaonanle
Material X Material Y Material X Material Y

The ice cubes were placed at room temperature and after 30 minutes, John observed
that the ice cube on material Y was smaller.

Which of the following s correct about materials X and Y?

(1) Material Y loses heat slower to the ice than X,

(2) Materlal X gains heat from the ice faster than Y.
(3) Materiai X should be used to keep cold items cool,
{4) Material Y should be used to keep hot items warm.

Which of the following is not an example of energy conversion?

(1)  climbing up the stairs

(2)  cooling hot water in a glass

{8) lighting a candie with a matchstick

(4)  generating electricity in a power station

{Go on to the next page)
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22 A compass has 2 magnet that rolates frealy as shown below.

north pole of
small
magnet

o,

There were four bar magnets. A compass was placed near end P and the direction of
the compass needle was as shown below.

repel
compass

L s

What would be the direction of the nesdle when the compass was placed at Q?

wm ® o0 @ o ® G

23 All the bulbs, P, Q, R and § are it in the following circuit.

If one bulb fuses, what is the least and most number of bulb{s) remaining §it?

Least Most
1) 1 2
) 2 2
{3) 0 0
(4) 0 3

{Go on to the next page)
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24 John was standing directly under the lamp at posilion A. He walked in a straight line
from A to C and back from C to B as shown below.

lamp

F 3

Which graph shows the length of his shadow changed during this time?

(1) 2
Length of shadow (ecm} Length of shadow (cm)
A A
I/
N
A B ¢ B A B ¢ B
Position Position
4
(3) Length of shadow {em) ) Length of shadow {cm)

L S A

\ N

» L.
>

A B c B A B c B
Position Position

(Go on to the next page)
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25 1an went to the beach and observed some coconut trees, He saw that one of the
coconuts had fallen from a tree and landed on the sand,

coconut Z

coconut Y

coconut X

depression

L

Based on the diagram above, which of the following statements is correct?

(1) Coconut X has the least amount of gravitational force acting on it since it is on
the ground.

(2) Coconut X does not possess any gravitational potential energy as it was lying
on the ground.

(3) Coconut Y and Z have the same amount of gravitational potential energy if they
are of the same mass.

{4) Coconut Z has greater gravitational force acting on it than on Y because
coconut Z was further away from the ground.

(Go on to the next page)
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26 Two springs, M and N, have the same length. When two identical blocks are hung on

the springs, the results are as shown.

spring M I 10 cm

200g

200g

Which graph shows the relationship between the mass hung on the spring and the

length of springs, M and N?

(1)  Length of Spring {cm) ()

Mas; hung on

the spring (g)
(3)  Length of Spring (cm) {1
F 3
I""’ M
g .
Mass hung on
the spring (g)

Length of Spring (cm)

Mass hung on
the spring (g)

Length of Spring {cm)

['s

Mass hung on
the spring (g}

{Go on to the next page)

BP~593




BP-~-594

18

27 Hul Min released a ball tied to a string from position A,

The ball passed through position B and reached position C as shown in diagram 1. From
position G, the ball swung back to position B as shown in diagram 2.

*
hY
b Y
/\(
r
rd
»
.
-

string

ball v !

[
\
O
4

—
ol
\
2]

Diagram 1 Diagram 2

Which of the following about the energy in the ball is corrgct?

Potential energy at Kinetic energy at position B in
position A compared to diagram 2 as compared to
———position C diagram 1

(1) less more
(2) less fess
(3) more less
4 more more

{Go on to the next page)
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Ethan used the set-up shown to investigate the force needed to pull an object across
different types of malerials,

object spring balance
i
‘ ¢ table made of different
material
A 77

His results were as shown.

Material Force needed (units)
A 5.5
B 2.5
C 7.5

Ethan wanted to push a box onto the stage using a ramp as shown in the diagram below.

: surface of ramp

sole of shoe

Stage

Based on the above results, which material is most suitable for making the sole of his
shoes and the surface of the ramp?

Sole of shoe Surface of ramp
(1 Material B Material B
(2) Material B Material C
{3) Materiaf C Materfal A
4) Material C Material B

End of Booklet A
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For questj ‘ .
s gn?ﬁtgr;isgt 19 40, write your answers in the spaces provided, The number of marks avaﬂabfi;s rks]
®ls [ ] atthe end of each question or part question. wm

29 i
The diagram below shows the Hife cycle of a mosquito.

Stage B
(a) Name Stage A. State one difference batween stages A and B. {1}

(b} Male mosquitoes feed on the flower nectar of plant T,

Explain how male mosquitoss help to snsure that ths life cycle of plant T continues, [}

! 3

{Go on to the next page)
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30 Jayna conducted an experiment to find out how the amaunt of plants affect the amount of ol
collected. All the troughs contained the same amount of garden soil at the start.

trough C _
trough 8 garden
. - s0il
trough A _

(a) Jayna poured 500 cm? of water into each trough and observed the amount of soil that was collected
in bowls A, Band C. '

Which bowl, A-or B, will have a smaller amount of soil in 117 Explain your answer. [§)!

{b} State the purpose of frough C. 1]

(¢} The picture below shows a river flowing downstream. Along the river, there is a factory.

Explain why more dead fish were found in the river at L than at I, )

3

{Go on to the next page)
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31 The diagram below shows how blood Is transported in the human circulatory system.
lungs
heart
T Q
¥
legs
(a} Complete the bar graph beiow to show the amount of dxygen in the blood at P and R. [1]
Amount of
oxygen (unilts)
4
;
. » Blood
P Q R
{b} Name three parts found in the human circulatory system. i
(c) Desciibe how the digestive system works together with the circulatory system. 3

e

(Go on to the next pége)
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32  Seaanemones are marhe animals that faed on small fish and shrimps. When the pray comes close,
the sea anemone attacks it using its poisonous tentacles,

The clownfish, not affected by tHe polsonous tentacles of the sea anemone, helps to clean up the
sea anemone by feeding on the leflovers of what the sea anemone feeds on.

tentacle of
sea '
anemone
€ -
{a) State one way in which the clownfish depends on thig sea anemone for survival. [1]

BP~600

{b} Sea slugs feed on the sea anemone. ‘Explain how the population of the clownfish changes when the

population of the sea slug Incréases. 12}

{c¢} Green alfae is.commonly found living Inside the sea ansmone. 3
~ Suggest one way In ‘which the sea anemioné benefits from the dlgas. if
4

(Go on to the next page)
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33 The diagram below shows g penguin,
When the weather gets very cald, penguins puff their feathers to trap air.
{a) Explain how puffing its feathers helps the penguin to keep warm, 1]

(b} Penguins spend most of thelr time swimming in the dark ocean water.

black feathers

(7} State a characteristic of the penguin and explain how this affacts its movement in water. 11

() Suggest how the black feathers is an advantage for the penguins swirmming in the dark ocean
water. 1

{Go on to the next page)
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34 Pam put a pondweed into a clear test-tube of watar placed 10 ¢m from {fe lamp. She switched o
the lamp and measured the voluma of gas produced in § minutes.

FAR I O I

gas syringe

lamp

pondwesd Yt gas bubble

water

Pam repeated the experiments using fresh sets of water and pondweed. She placed the Jamp at
different distances from the pondweed and her results are as showmn.

D.istance of lamp from pondweed (cm) Volume ﬁf gas produced (cm®)
10 80
35 65
75 29
100 7
150 0
(a) How does the volume of gas produced change with the distance of the lamp from the
pondweed? il
(b) Explain your answer in {a). 11
i

{c} Suggest one thing Pam could do to obtain more reliable resuits.

(Go on to the next page}
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andy,

as shown in the graphs below.

Volume of
gas {cm®)

4

40+

h

{d)

[

1 i

» Intensity of

10

20 30
Plant X

light (unit)

the same set-up, Pam conducted a sacond experiment tising two different water plants, X
that ars similar In size. She measured the volums of gas produced and plotted the results

Volume of
gasn(crrl’)

404

/

, $ } »Intensity of
10 20 30 light {unit}

PlantY

Based on the results of her second experiment, which waiter plant; X or Y, will survive better In the
shady part of her pond? Explain your answer.

(2]

(Ga on to the next page)
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(@

(b)

(c

g

Chetra poured water into the ice-cube tray as shown below.

The table below showed the temperature for two different sompartments of her refrigerator.

Compartment Temperature of the compartment (°C}
A , Below 0
B 3
Which compartment, A or B, should she put to tum the water into lce? Explain your answer. f1]

Chetra had some cubes of pure chocolate. She placed these cubesin a beaker and melted them as

shown below.
lid ——F "] after melting
— ———
pure
chocolate height
bes : | melted
cu height chocolate
Diagram 1 Diagram 2

Explain why the height of melted chocolate was different from the origina! height.of the chocolate
1

cubes in the beaker.

olume of chocolate cubes in diagram 1 was greater than the volume of

Chetra concluded that the v :
melted chocolats in diagram 2. Do you agree? Give a reason for your answer. ]

3

{Go on to the next page)
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36 Jean conducted -@n experiment in the same room using two similar beakers containing the same |
amount of water but at different temifSmture,

90 °C= ‘
™
Beaker A Beaker B !

The graph showed the amount of water left in the beakers over a period of tims,

o A
The amount of
water left

—* Time
fa) Based onthe above resulls, explain-how the temperature of the water affected the amount of water
left in the beakers, [1]

(b) Explain why Jean had 1o put the beakers.In the samo location for the experimént {o be fair. [1

¢} Jean would like to find qut how the size of sxp acé arga sffected tha water loss.
(e State twio changes that she neédéd to make {0 the beakers, 14

(Go on to the next page)
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37 {a) State what frictional force is. [t

Timothy played table hockey with his sister. He used the handheld maliet to push the puck o
the other side.

e o s ol / Timothy's hand

S f " handheld mallet

puck

He had two pucks, P and Q, of different sizes as shown below. They were made of same
material and had the same mass.

= S

P {10 g) Q{10 g)

(b} Suggest if_p'gglgg;would travel further than P when Timothy, using the same ameunt-of-ferce,
pushed it With the handheld mallet, Give a reason for your answer. 2

(Go on to the next page)}
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38 Xiao Jie hung ball A with a string above the ground as shown befow. When the string was cuf, the
ball dropped and hit the ground,

[ o
4
string ——— 10 em
@:" : betl A
g
Jground
L ]
{a) Fill in the boxes below to show the energy conversion when the string was cut fromball A, {2]
nad - + H  heat
energy of ha’ﬁging energyin falfing {  energy energy energy I
|

ball

(b)

ball

when ball A touches the ground

Suggest if the ball would produce a louder or softer sound if the length of string was 5 cm,
Explain in terms of energy conversion. 4]

(Go on to the next page)
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39 Study the following circult diagram of a bread toaster. When the switch is opan, the spring altached
1o bar X and the iron cylinder is at ils original length.

metal tray to hold the bread

bread
\-

top of the toaster

)

[RESO RO
5 2N,

heating device that

/ toast the bread

N

gt ssarserineeseeapr ey
Bomamentrasrvrmsiamaresiempriaeibst?

bar X

wire coiled around a2 _j
fixed iron oylinder

{a} When the switch was closed, the metal fray moved downwards.
Suggest the properly of bar X that made this happen. (]

(b) Expiain how the metal tray moved downwards when the switch was closed. [2]

{c} HRwas observed that part of the bread was still above the top of the bread toaster whin tha.switch
was closed. Suggest a change to the spring to make the metal ray move down completaly.

Explain your answer. 2

5

(Go on to the nexi page)
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40  Grace had two bulbs controlled by one switch in her toy house as shown below.

--------------------------------------------

|
®
®

(a) When the switch was closed, the light was too bright for her. Without removing or adding any battery
or bulb, what could she do 16 the gircuit to make butbs dimmer?

Draw the new circuit in the following diagram. [1]
(b) State one disadyvantage of the new arangement of bulbs in part (a). [1

{Go on io tha next page)
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{c)  Grace instailed a two-way switch to control the light at the hallway. Each swilch can be tumed to
pusition X or position Y. '
She set up the circuit so that the bulb will be Iit as described in-the table below,

Position of Switch
Switch on the ground Switch at sécond floor | Bulbis it
X . Y " No
X X Yos
Y Y Yes
Y X No

The diagram below shows part of the circuit, Complete the circliit so that it will work as described. [2]

Power
Source

. X
wire § el
!
Y
Two-way switch at second floor
1X
s
T | wi
Y | e
Two-way switch on the ground floor

End of Papser
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Methodist Girls’ School (Primary)
Suggested Answers for Preliminary Examination 2024

Section B

29a | Stage Ais larva / wriggler.

At stage A, the larva feeds on food / mouits / moves bul at Stage B, the pupa does not feed on food /
does not moult / does not move.

290 | Male mosquitoes help to poliinate and fertilise the flower. The flower then develops into a fruil that
contains seeds which grow into new plants.

30a | Bowl A. There are more plants in trough A so more roots are holding on 10 the soil, causing less soil to
geReroded ! washed away by the water and collected In bowl A.

Bowl A. There are less plants in trough B so less roots are holding on to the soil, causing more soil to
be eroded / washed away by the water and coliected in bowl B.

30b | it is & control set-up to compare and confirm that any difference in the amount of soil collected is
solely due to the number of plants in the frough.

30c | The water at L contains more pollutants from the factory, so more fish die.

31a Ambunt of
oxygen funls)
4

31b | Heart, blood, blood vessels

31c | Digested food is absorbed info the blood in the small intestine. Heart pumps blood containing digested
food to all parts of the body in the circulatory system.

39a | The clownfish depends on the sea anemone for shelter / protection / food.

32b | When the population of sea slug increases, more 5€a slugs will prey / feed on sea anemone leading to
a decrease in the population / number / amount of sea anemone. With less sea anemone, there will be
less food / shelter for the clownfish, hence the population of clownfish will decrease.

32¢ | During photosynthesis, algae produces Oxygen for sea anemone to take in. OR
Algae attracts small fishes / shrimps to feed on so the sea anemone can prey on them.

33a | Puffing their feathers traps air which is a poor conductor of heat which decreases / reduces / slows
down heat loss from the penguin’s body to the surroundings.

33bi | Penguin has a streamlined body which helps itto swim faster. OR
Penguin has modified wings/ flippers / wehbed feet which helps it to swim faster.

33bii | The black feathers help penguins to blend in / camouflage with the dark ocean water, 5o it is less
likely to be spotted /seen and eaten by its predators.

OR

The black feathers help penguins to blend in / camouflage with the dark ocean water, less fikely to be
spotted /seen by its prey, increasing the chances of them obtaining food / catching prey.
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34a | Asthe dlstaqce of the lamp from the pondweed increases / decreases, the volume of gas produced |~
decreases / increases.
—— .
34b | As the distance of the lamp from the pondweed increases, the intensity / amount of light decreases so
the rate of photosynthesis decreases,
34¢ Repeat the experiment three or more times and calculate the average result,
34d | Planty, ]
For the same intensity of light of 10 units, plant Y produces more gas than Plant X, so plant Y can
make food / photosynthesise with less light in a shady area. OR
To produce the same volume of gas of 40 units, plant Y needs less light than Plant X, so plant Y can
make foad / photosynthesise with less light in & shady area.
35a | Compartment A. Water has a freezing point of 0°C and compartment B is above 0°C
35b ghocolate cubes/solids have definite shape and there are air spaces between the chocolate cubas.
R
Melted chocolate/Liguid has indefinite shape and it can change the shape to occupy /ill up all the air |
spaces between the chocolate cubes. !
35¢ | No. Both solid {chocalate cubes) and liquid {melted chocolates) have definite volume. The voluma wil
remain the same even when it changes its state.
36a | As the temperature of water increases, the rate of evaporation increases and hence less water (s foft.
36b | Itis to ensure that the temperature of the surroundings or the amount / strength of wind in the
surroundings is the same and the amount of water loss is only due to differences in temperature of
water and not the differences in temperature {presence of wind at the location,
OR
There shouid be only one changed variable which is the temperature of water, and the surrounding
temperature/amount /strength of wind at the location must be kept the same.
36c | She should make the temperature of water in both beakers the same and change one of the beakers
with a bigger opening to have a bigger exposed surface area.
37a | ltis the force that opposes/ moves against motion,
37b | No. Both P and Q had the same mass/weight, so the amount of frictional force between the puck and
the fable is the same. The surface area of the pucks would not affect the amount of frictional force
between the puck and the table. Both will travel the same distance.
38a | (Gravitational) Polential energy in the hanging bal-yKinetic energy in the falling bali-3 Kinetic +
Sound energy + Heat energy of the ball on the ground
38b | Louder.
Shorter siring will hang the ball higher from the ground, resulting in more {gravitational) potential
energy of the ball which could be converted to more kinetic energy of the falling ball which will be
converied to more sound energy.
39a | Magnetic material
38k | When the switch is closed, the iron cylinder becomes an electromagnet/ is magnetized which will
atfract bar X and pull the metal tray downwards.
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38¢ | Use a less stiff spring ) .
For the same force / magnetic force of allraction applied, less sliff spring will be compressed more and
it will move downwards more/ move further down.
Use a shorter spring.
For the same force / magnetic force of attraction applied, the tray will be lower / closer to the cylinder at
the start and it will move downwards more/ move further down.
40a
40b | She could not control the bulb independently because there is only one switch. OR
if the switch is closed, both will light up at the same time, OR
1f the switch was open, both will not light up. OR
If one bulb fuses, the other bulb cannot light up.
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